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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 100 objective type questions. Each question

will carry two marks. All questions of Paper II will be compulsory.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@ To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

@) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to missing pages/questions
or questions repeated or not in serial order or any
other discrepancy should not be accepted and correct
booklet should be obtained from the invigilator within
the period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given. The same may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.

There is no negative marking for incorrect answers.
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Geography

Paper II

I

EECIECAN |

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U7 STRd. T WYY Wi

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

Who conducted the first linguistic
survey of India ?

(A) Berber

(B) Emeneaue

(C) Grierson

(D) Khulachandani

The term ‘new cultural geography’
was coined by ...........

(A) French Human Geographers
(B) American Human Geographers
(C) British Human Geographers
(D) German Human Geographers

Find out the correct options from the
following pairs related to
geostrategic idea of Mackinder :

Year Concept
(a) 1904 Pivot area
(b) 1919 Strategic Heartland

(c) 1943 Midland basin
(A) (a), (b) and (c)

(B) (a) and (b) only

(C) (a) and (c) only

(D) (b) only

TRATe Ofeel TSR TS &T07 Hio
HA 7

(A) R

(B) sE=

(C) UITHd

(D) Fer=aH!

R CIE It R I A I
uell

(A) % HFE SR

(B) STANEA HMel ST

(C) fafewr Amell yrirerems=

(D) <A AFE AT

Hohet AT YHMNE Heaen Herem

Telid SIS ara 9dg e

S Hehed T
(@) 1904 TR &5
(b) 1919 THRE Bed At
(c) 1943 Y TR

(A) (a), (b) 3T (c)

B) (a) 30 (b) T
(C) (a) &AM (c) ek
(D) (b) ®ed

[P.T.O.



The line of actual control across
Ladakh between India and China
appears to be what type of

boundary ?
(A) Antecedent
(B) Relict
(C) Subsequent

(D) Superimposed

Which of the following statement(s)

is/are correct regarding ‘Leben-

sraum’ ?

(1) The term was developed by
Geopolitics school

(i1)) The term was used by both
Friedrich Ratzel and Darwin

(zii) The meaning of Lebensraum as
‘Living space’

Codes :

(A) only (iii) is correct

(B) only (i) and (iit) are correct

(C) only (i) and (iiz) are correct

(D) All are correct

4.
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IRd A0 = I Tem Joad
s 3o & wiveen gereEl '
FGeI fowd 2

(A) Tt

(B) smafyme

(C) T

(D) AN

" STeld Weleiuent shivrd faem

() =R SAe/3Aed ?

() B T Y-k g feaReRA TRt
el

(i) B HA G LG S e A
SR AT

(i) ST 319 gsita Afye’ st
CIE

Hehdieh :

(A) T (i) T S 3T

(B) W& (i) ST (i) SR 3TRd

(C) W (if) MU (i7i) SRR &

(D) W& SR 3R




6.

A Supranational Organizations

are :

(1) It is a collection of individual
states with a common goal that
may be economic or political in
nature.

(z1) United State is perhaps the best
example of supranational
organisation.

(zii) Supranational Organisations
work for collective interest of
members

Codes :

(A) Statements (i) and (ii) are correct

(B) Statements (i) and (iii) are
correct

(C) Statement (ii) is correct

(D) Statements (i) and (iii) are

correct

Who is considered the originator of
dualism between Physical and

Human Geography ?
(A) Carl Ritter

(B) Oscar Peschel
(C) George Gerland
(D) Friedrich Ratzel

APR - 36224/I1—D

qUTYAE geyre ded A faem
HIA 2

() ¥ Uk dFfads TA g S
< HHES S ST o e

fhall TSR ToET 3T Iehd.

(i) STHNER (FHELE WH) ¥ Halrad
YT TEE otk 3T 3.

(i7i) U &I T WHfew

feamamel = Hdm.
Hehdieh :
(A) faum () 9 @) ==
B) faem™ () = (i) a4
(C) faum (i) ==
(D) faum Gi) 9 (i) I

I YThider 30T Al Yiliel ATdiel

START Yodeh "MWl S ?
(A) & R

(B) &R T

(C) il iReis

(D) Wwigw e
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List of authors (List I) and the books
they work (List II) are given below.
Match the List I and List II and
select the correct answer from the
codes given below :

List I (Authors)
(@) P.R. Gould and R. White
(b) D. Leg and M.S. Samuels
(c) E. Soja
(d) R. J. Johnston

List II (Books)

(z) Postmodern Geographies : The
Reassertion of Space in Critical
Theory

(i1)) Geography and Geographers

(7ii) Humanistic Geography
Problems and Prospects

(tv) Mental Maps
Codes :

(@ @) () (@
A @ @) G Go)
B) @) @) Gv) @GD)
(C) (v) @) @) (i)

APR - 36224/I11—D

IR 1 988 oiEeRTel A9 3ed R Ie
I1 H&8 Y=t Ad Welegq T 2. el
I 9 II Irausi Sesdq @elid feeiedl
Hehdishiienl arg vty feer
el 1 (F1Eh)

(@ ULAR. Tiee 9 AR, e
(b) Sl oM 7 THUE. HHEUA
(c) 3. W
(d) AR, S

aret I (Term=n )

() dredred fSeiaree : g Rereem
3R 9 3 TRt o

(i) ToeuTs sfvg fSsiurrd

(iii) AR SATH! @ Wiy 3fre
PIESCes]

(iv) Hed Ho

U
(@ b)) @ @

A @ @) @) (o)

B) @ @ @) @)
(C) (v) @) @) @)
D) @) @ @ @)

D) @) @)

@) (@)

In the course of development of
Geography as a science of spatial
analyses what become its language
and method ?

(A) Ecosystem
(B) Environment
(C) Geometry
(D) Landscape

syt faverm fagm ®=uE e
famRI=E =1 fasErE 9™ 9 gl
M A ?
(A) TfcEen
(B) TR

(C) “ffdt
(D) Y534




10.

11.

Who in his 1906 methodological
paper entitled ‘Objectives of the
Geography of Man’ projected the
alternative concept of Geography as

the study of landscapes ?

(A) George Gerland

(B) Otto Schulter

(C) Friedrich Ratzel

(D) Ferdinand Von Richthofen

Which of the following statements
about postmodernism 1is not

correct ?

(A) The postmodern methodology is
based essentially on the

strategy of deconstruction

(B) Postmodern thought provides a
theoretical context for the study
of stratial/areal diversity in the

life world

(C) The intellectual movement of
postmodernism flourished in the
first quarter of the twentieth

century

(D) Postmodernism is regarded as

the culture of late capitalism

10.

11.
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¥ 1906 T vt  sffssEeieg S1fth §
i uTHel f%® 99’ a1 IASwT=AT
FRUGR TEERTE YGTATA] YA
FIOITEIST TIeATdiel it Sehea
HEMd shean ?

(A) SIS et

(B) 3l s

(C) wigh Tegid

(D) wEME o e

wTATAdRT HIOTA faemd g Iw-
MYFFaEREE g% AR 2

(A) SW-3NYFTeh Tgal A1 Hgora: Tomres

HuTTe ST 3Ted

(B) W3y fomm ¢ Siifad Seiamed
sttata fafayd=n e w
Igifter e weE W

(C) 20%A1 ¥dehrea Ufgeal =g,

st famiwTIat=ar S@ifg®

TdSBEl TS HTelt

(D) STR-MEAHaEE & FHAIT

ATSTAIME TEhal TR

[P.T.O.



12.

13.

Which philosophy is based on a set
of principles and procedures
originally derived from Linguistics
and Linguistic philosophy ?

(A) Structuralism

(B) Feminism

(C) Behaviouralism

(D) Humanism

Assertion (A) : Ratzel provided the
scientific basis to study Human
Geography through his two volumes
of the book Anthropogeography.

Reason (R) : Positivism was the

approach used in the book

‘Anthropogeography’.
Which one

is correct ?

of the following

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is the

explanation of (A)

not correct

(C) (A) is false and (R) is true

(D) (A) is true and (R) is false

12.

13.

APR - 36224/I11—D

HIVT eI HeTd s STHIeiRI AT ifereh
TG W STeTe awel S0 Afshare
o EiE o ?

(A) HTEAERE

(B) e

(C) e

(D) HHEdER

e (A) : YeSe AFET = s1ead
FAOIEG] A HATAIRTSATITR T A

T S TeER s 3TN S
el

FHIOT (R) : TS § SAGHINSTATITHT

A1 T ATe Tl gftes™ 2.
WU UM TR 3T ?

(A) T (A) 27for (R) sRISR 3Ted o
(R) ® (A) 9 379 TILHIT 3T

(B) TR (A) &mftr (R) SRI&R 3Ted g

R) B (A) = ST ST G

(C) (A) T I 3% 97 (R) T TR 378
(D) (A) T IR 31 997 (R) T TF 3T




14.

15.

Structuralism in Geography focuses
on the analysis of .........
(A) Individual behaviours and

perceptions

(B) Grand narratives
metanarratives

and

(C)

Social structures and power
relations

(D) Multiple perspectives

Match the name of the Geographers
(List I) with the terms (List II)
selecting the correct answer from the
given codes :

List I
(@) Plato
(b) Hipparcus
(c) Hettner
(d) Kropotkin

List II
(z) Map projections
(z1)) Deductive approach
(i11) Mutual aid
(zv) Chorology
Codes :

(@ b)) () (@

A @ @) G Go)
B) @ @O (v @)
(C) i) @ @) @)
D) ) @ @) G)

14.

15.
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AR HETER 8

EEEEUIEEER: tlic Cox )
(A) SFfoRTeh o= 3T e

(B) 9EShgT 9 TURHYA

(C) IS H=AT o HxEey

(D) wggfeeshH

Jal 1 7E fiederEl 79 9 et 11
T Tl fereen e, = Ava SEl Yoo
fedear  wafaidia v 99iyg
IREEIEE

arar 1
(@) ==
) femmeg
(€) BEW
(d) e

aret 11
(i) TR Y&

(i) T gftesm

(iii) IR A
(iv) RS ( SATT)
i

@ ) © (@

A) @) @) @) Go)
B) @ @O @) @)
(C) Gi) @) @) Gv)
D) @) @O @) @)
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16. Match the List I (Area of Study)

with List II (Focus of the Study) by
selecting the correct answer from the
codes given below :

List I
(Area of Study)

(@) Man-Environmental relation-
ship

(b) Spatial analysis
(c) Earth Science
(d) Area Studies
List II
(Focus of the Study)

(1) Study of natural and Geological
processes

(2) Understanding human impacts
on the environment

(3) Quantitative methods to
analyze spatial patterns

(4) In-depth examination of specific
regions

Codes :

(@ B) () (@
A 3 2 @O @
B 2 O @ O
< 1D @ Q) @
M 2 & 1 @

APR - 36224/I11—D

16. IET I 9L 3A9M &9 9 9©r 11 999

AT e foed M. 2 el Sesad

T = e .

Tt 1
(TTTE &)

(@) AHI-9AER0 Fa9
(b) HAERE fagerom
) Yo
(d) abE FE
et 11
(ST T83)
(1) wrepfaes smfr yemesia wiswarn

HEY

(2) TATEOTeRIE HIFET FeTe TS B0l

(3) stfuaia opfaaa deacds
forgereo =

(4) fofyme gem TeEre T
Hehdieh :
(@ b)) () (@
Aa 3 @ 1 @
B @2 O @ O
@O @ B @
D 2 & @O @
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17. If the distance between two points | 17. maﬁ#}aﬂa@qﬁ@%ﬁa 37T 25 feptl.
on the ground is 25 km and the ST 0 TRRIeRa < g fagadia
distance between the same two st 10 . sr, T AR >
points on a map is 10 cm, then the

(STRTF.) TR G e
Representative Fraction (RF) scale
.
of the map is ..........
(A) 1 : 2500
(A) 1 : 2500
(B) 1 : 25000
(B) 1 : 25000
C) 1 : 250000
(C) 1 : 250000 ©

18, eeeeee.. is not an example of | 18. T T Wifeasa ToM I/
statistical surface. e
(A) Rainfall distribution map (A) TSI faaeor e
(B) Elevation map (B) THEHURTURIA=N 3= G¥eh Tahmen
(C) Tourism map (C) Tde ehrem
(D) Soil productivity map (D) HaT 3cqIeehdl Teh=

11 [P.T.O.
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19. Match the List I and List II and | 19. =< 19 A=t I F= Siedl Seedd @reiid

select the correct answer from the {jofmiq—nq\ﬂ I 1@y feer
d iven below :
codes give ﬁI(‘I;E )
List I (Projection)
! (@) &9

(@) Bonne’s
(b) THIX

(b) Mercator

) OB IKIEIRIED

(¢) Polyconic

(d) wicas

(d) Mollweide
aret 11 (&5 STsit/3e9n)

(1) o Y@mEtE foawn

List II (Area coverage/purpose)

(1) Small longitudinal extent

(2) Navigational charts (2) fereh TR

(3) Mid latitudes (3) W& AT

(4) Distribution map across the (4) Hqoi Sren foeer R
globe g

Codes :

(@ ) (© (@)
A @ 3 @O @
B 3 @ 1 @
© 3 1O @2 @

D @2 B8 @O @
20. 3I31F TR Hieied] Tfed IO

(@ b)) © ()
A @ 3 @O @
B 3 @ O @
< 3 O @ @
M 2 B 1) @

20. Fragmented lines drawn in relief

maps are known as: | 777 Y TRV
(A) Contours (A) gHr== T

(B) Rhumb lines B) TE ™

(C) Form lines (C) 3R W@

(D) Graticules D) YETSTA

12



21.

22.

23.

The variability of rainfall is best
represented by which of the

following technique ?

(A) Mean deviation

(B) Standard deviation
(C) Coefficient of variation
(D) Interquartile range

How stratified sampling is carried

out ?

(A) Sample is made up of elements
which are randomly selected

from the population

(B) Dividing the population into
homogeneous groups and select

equally but randomly
(9]

Population divided into random
groups and select equally from
each group

(D) Assigning numbers to the

population and selecting
randomly the numbers

‘Chi-square Test’ is used to

measure :

(A) Mean deviation

(B) Goodness of fit

(C) Trend

(D) Variation

APR - 36224/I1—D

21. TS oo e Eeelieh] Shivre

22.

T SFRUSR Siadl Jed 2
(A) T fo=e™
B) wHIfoG fa=e™

(C) fo=rto Tune

(D) STATaqe® He

Wd wfagad HIMYsR el S 2

(A) THT ARHABIHYT 15 fesehqul

BEESRIRCEC A G E I k| e |

(B) dhEEIY THEY M fausH

& T FHAT W TG fodeh qul

IREESIEEIN]

(C) ThEeE a5 fese Temed faurTe]

ST S gk A HE

(D) weREEde HEA e T o

FgfeRTe g e

............

Y NN i
HISTHIY en VISl encdl S1ldl.

(A) FOHL foerer
(B) Seeuft=t Al
(C) =d

(D) feremm

13
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24. Which of the following formula is

25.

used to calculate the drainage

density of a region or basin ?

(A) Total number of streams/total

area in square km
(B) Basin area/basin length square
(C) Total length of streams in km/
total area in square km

(D) Area of the basin/area of the
circle with same perimeter as

the basin

profiles present a vivid
picture of the magnitude of relief
and general nature of dissection of

the region or watershed.
(A) Cross

(B) Superimposed

(C) Projected

(D) Composite

APR - 36224/I11—D

24. TR fohar TET=A WA STAf-HR S

25.

TSTUATETS! WE e deh] v T3l ST

S ?

(A) THU FATRE T/ TR &AhRD

(B) &= WA &3/A5eA |
KIEIEICIEC]

(C) Jarer= TeRol afell fret 7ed/wenm
&9 =R TRl ALl

(D) =N @A &F/A5 S
TR THH STeed Sieerd S5ha

7 ISETH] Hew™

wye Tt quifadia 9 gewr foven aroreile
&= Tersesa =l HiHT= T e SRifadrd.
(A) =1

(B) ereAmifoe/ sttt

(C) wafud

D) Tz

14
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26. Match List I with List IT and select | 26. =@l 19 I@l F@l 1T Fi=a1 SiieN e
the correct option from the codes @eiiel HehdieRigd A qaE et .
given below : a1

. List I . (ﬂ;ﬁ'@ﬂ' IR
(Geggi:;mnary Satellite) @ sz,
(Z) o (b) ST
®) o © T
© @ e
(d) METE(I)EP:;TH T 11
(C tlS/A ) (R
ountryigency _ (1) Fufem sTaer o=
(1) European Space Union
(2) USA @) FTER
. (3) I
(3) Russia
(4) Japan (4)i ST
Codes : (@) :(b> © @
@ o) o) () W @ @ 0
(A2 @ @) B 1O B @ @
B 1O B @ @ O @ @ @ 1
< 2 B @ QD (D) (4) (3) (1) (2)
D @ B @O @ (ﬁ) (.) ,\() r() S) N N

27 Arrange the regions of 27. |"3|F<_l,('|“.i®|°|'il"‘l °|U|9l'i'-| HAGRIHE] decd| shHH
electromagnetic spectrum in ATl WHIOT HISoft &4
ascending order as per wave- (1) etfaies o
lengths :

(1) Ultraviolet (2) q& w=l
(2) Microwaves (3) &-fwu
(3) X-rays (4) 3™ el 9 el @l
o pysion and fadio (A) @), (3), @), (1)
(©) 3), (1), (2), (4) (C) (3), (1), (2), 4
D) (2), 3), (1), (4) D) (2), (3), (1), (4)
15 [P.T.O.



28.

29.

30.

Which of the following statements
about scanners is not correct ?

(A) In pushbroom instrument the
scanlines are parallel to
flightline

In whiskbroom instrument the
scanlines are perpendicular to
flight line

The whiskbroom instrument use
single detector for each band
which collects energy through
rotating mirror

(B)

(&)

(D)

In pushbroom instrument the

sensor is composed of thousands

of tiny CCD

Which of the following minerals is

found in the monazite sands of

Kerala ?

(A) Mica

(B) Uranium

(C) Kyanite

(D) Thorium

Tropic of Cancer passes through

which set of Indian states ?

(A) Gujarat, Rajasthan, Bihar,
Mizoram

(B) Madhya Pradesh, Uttar
Pradesh, Jharkhand, West
Bengal

(C) Bihar, West Bengal, Tripura,
Mizoram

(D) Madhya Pradesh, West Bengal,

Tripura, Mizoram

28.

29.

30.

APR - 36224/I11—D
WATAUeh! hivd Uk faem 3Tecilshen

(FFR) e[ T TR ?

(A) qITgH SUSHLUMG HAgallsheh o1
TS 1M HAGR STEAT

(B) feengd STHIUMG HTeiheh 1o
ISV BE deed SHa

(C) feThg A ITHRIOMA Fcds &
JETATATS! Tod =a1 AMiadl
RO ST Uehd GaAgehT
el TR shell ST

(D) RTFA ITHIVNG HAGH TSI 1.
2l T e ST

WA ShivT! TSl shicsedl AR

e ST@esdd 7
(A) &HYH

(B) i

(C) FHITRE
(D) it

AT PVl TR Fehed S 2

(A) TR, Ty, faeR, e

(B) HEIYRY, IWUSYI, FREE, Ufg=H
EHi)

(C) foer, uft=m sma, By, freim

(D) weFgsyl, ufveq &wa, faqu,

IEEINE!

16



31.

Given below are the two statements,
one labelled as Assertion (A) and
other labelled as Reason (R). Select
your answer from the codes given

below :

Assertion (A) : Laterites are less

fertile soils.

Reason (R) : High rainfall leads to

leaching of minerals.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

31.

APR - 36224/I1—D

el M e ool omed. e U

e (A) o¢ 9 T ST (R) TR

Erell oo HehdiehHgd 3 9HA

IREEINR

e (A) : SiefgeT et Yiehar SR

T S

HROT (R) : oAfq TS |

frere™ g

Hehdiah :

(A) T (A) T (R) ok 31 (R)
(A) = I T B

(B) Both (A) and (R) are true but (B) ==t (A) & (R) 7 e W (R)
(R) is not the correct B (A) = 3T TR ARl 3R
explanation of (A) .

(C) (A) 319 3T W (R) T I 3T

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true (D) (&) 9% ¢ WY (R) & FF e

32. Which of the following objectives is | 32. ‘TAMI T wrEswA’ HdUd Sleelieh!
not true for ‘Namami Gange et LW

Programme’ ? ‘

(A) Development of ‘Ganga Grams’ (A) ‘T gm e faeE

(B) Development of navigable water (B) =FfFwiaictAEt aegHt AT
ways for mechanical boats o

SICTHITTET TdehlH

(C) Development of River fronts

(D) Monitoring of industrial (C) et T RIS
effluents (D) afeifier reumarEt

17 [P.T.O.



33.

34.

35.

With reference to India, the names
of Didwana, Degana, Sargol and
Khatu are associated with which of

the following option ?

(A) Glaciers

(B) Ramsar sites

(C) Mangrove areas

(D) Saline lakes

Which one of the following has ‘Cwg’

type of climate ?

(A) Deccan peninsula

(B) Western coastal region

(C) Leh and Ladakh

(D) Ganga plain

is one of the best examples

of radial drainage pattern.

(A) Drainage on Girnar Hills

(Gujarat)

(B) Shyamak hill drainage

(Rajasthan)

(C) Pachmarhi hill

(Madhya Pradesh)

drainage

(D) Bhima River (Maharashtra)

33.

34.

35.

APR - 36224/I11—D

qRar=A 9euid fesamn, S, Wi
sfoT =g & A Welereh! vl
e frfed e ?

(A) fered

(B) THEY wos

(C) TREH &

(D) WRE |

TR hI0 UeFd ‘Cwg’ WohTd
B 38 ?

(A) TEETE U8R

B) U= fFIRUEE wew

(C) T e wTsre

(D) T TH

(A) AR 9ed &7 gomet ()
(B) v TG &l WUmelr (TSTEYT)
(C) JoHet yad A< Jumel! (HEAYS)

(D) T =& gomel (HERTR)

18



36. Match the List I with List II and

select the correct answer from the

following :

List 1

(Local names of the plain)

(@)
(b)
(c)
(d)

(1)
(2)

3)
(4)

Bhabar
Khadar
Bhur
Kallar
List II
(Characteristics)
Composed of newer alluvium

Consisting of gravel and

unassorted sediments
Barren saline efflorescences soil

An elevated piece of land
situated along the banks of the
Ganga

Codes :

A (D
(B) 4)
€ 2
D) (2)

(@) (&)
4)
(2)
3)

(1)

(c)
(3)
(3)
(4)
(4)

(d)
(2)
(1)
(1)
3)

APR - 36224/I1—D

36. @EI1 o AT 11 A= el Sesd @reitel

HehdieRqd ara T e

(@)
®)
(c)
(d)

(1)
2)

3)
(4)

arer 1
(et weanfen Ti9)
HIaY
LGl

ks
el

Iqrat 11
ClE=))
AT et =

W 9 YT STTeET TS
Tl

e @R UYHEE gel

T =T e STl ST
Tk 39 Y

- .
.
+

A
(B) 4)
C) 2
D) (2)

(@ (®)
4)
(2)
3)

(1)

(c)
3)
3)
(4)
(4)

(d)
(2)
(1)
(1)
3)

19

[P.T.O.



37.

38.

Which of the following statements
is not correct with respect to
roadways ?
(A) National
constructed and maintained by
National Highway Corporation
of India

State highways are constructed
and maintained by Border

highways are

(B)

Roads Organisation
District roads are developed and

©)
maintained by Zilla Parishads

(D) Village roads are mainly the
responsibility of Village
Panchayats

Match List I (Waterways) and List
IT (Stretch) and select the correct
answer from the codes given
below :

List I
National Waterway 1
National Waterway 2

(@)
)
(c)
(d)

National Waterway 3
National Waterway 4
List II

Sadiya-Dhubri stretch
Allahabad-Haldiya stretch
(3) Kakinada-Puducherry stretch
(4) Kottapuram-Kollam stretch
Codes :

(a)
(A) (2)
(B) (1)
C) @
D) (1)

(1
2)

(b)
(1)
(2)
3)
(2)

(c)
4)
4)
1)
3)

(d)
3)
3)
(2)
(4)

37.

38.

APR - 36224/I11—D

EATieh! Hivd fagm § TEnTared

I AR ?

(A) TS HeMH & WRATE T HerH
TEWEs AN®e] a9 9 @Y
EZSESIGIG!

(B) TSI HMWIT SNEIvt & S@e &t
HH AN HEEThed hal S

(C) Toreer T fas™ onfin @

fSegraiioea Thd Bla

(D) & WA FaEER & TEAd:
TR ST

It 19 AT 11 A= e e e
Hehdieiqd ara T feer

et 1
TR Semrt 1
TR SeHr 2
T e 3
T SAHM 4

TEr 11
Tifean 1 el foer
SRR o Teard fawR
(3) wmEhiATE d Jga fawr
(4) “IZAYH d hice™ fa&r
Hehdlah :

(@)

(A) (2)
B) (1)
C) @
D) )

(@)
)
(c)
(d)

(1)
(2)

(®)
(1)
(2)
3)
(2)

(c)
4)
4)
1)
3)

(d)
3)
3)
(2)
4)

20



39.

40.

Which of the following tribes is not

belongs to Proto-Australloids race ?
(A) Irulas tribe

(B) Veddahs tribe

(C) Kharwars tribe

(D) Murmis tribe

Arrange the following North-
Eastern states by their Literacy rate
(percent) in decending order as per

the census 2011 :

(@) Meghalaya
(b) Nagaland
(c) Assam
(d) Mizoram
Codes :

(A) (), (), (a), (c)
B) (c), (b), (@), (@)
(C) (o), (@), (b), (@)

D) (@), (), (c), (@)

39.

40.

APR - 36224/I1—D

wretAde! wivrar stfeardt AT
TRI-Aiars afyes Rl ?

(A) =&l SHI

(B) <&l

(C) BRAR SHId

(D) HHH SHE

2011 = STUHIER Telid se=sheld
T HIERA TUTER ST ShAH FEoft
U

(@) HemEr™

(b) RIS

(c) E™

(d) fo=inm

Hehdih :

A) ), (b), (a), (c)

B) (e), (B), (@), (@)

©) (o), (d), (b), (@)

(D) (@), ), (¢), (@)
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41.

42.

Which one of the following is the

evidence of seafloor spreading ?

(A) Palaeomagnetism (Magnetic
Anomalies)

(B) Drifting of Continents

(C) Upwelling of magma from the
Mid-oceanic ridges

(D) Movement of the plates

Match List I with List II and select

the correct answer from the codes

given below :
List I (Force Types)

(@) Horizontal forces

(b) Epeirogenetic forces

(¢) Catastrophic forces

(d) Exogenetic forces

List II (Characteristics)

(1) Vertical movements

(2) Tangential movements

(3) Destructional process

(4) Sudden movements

Codes :
(@ B) () ()

A 2 @ @O B

B @ @O @ O3

< @O @2 6 @

D & 1 @ @

41.

42.

APR - 36224/I11—D

T cTUeht ShIVT Teh HRdes o=
qe e ?

(A) IR

(B) T e

(C) ST HEERR WIGT HHT= SHe0
(D) YUE/Y@oh= FEA

ARt 19 A=t 11 o= Sl Sjeedl S

Telld Hehdiehgd g 9ag HaEer
T I (T ThE)

(@) fafos @ od

(b) YESTIH ad

(©) TAIHR o

(d) e =
Tt 11 quTaToTs)

(1) SEATHT grer=e!

(2) eaq BT

(3) T TR Wishan
(4) 3itsr Brer=Te
Hehdlah :

(@ b)) @ @
A 2 @ @O 6
B 2 @O @ A
e @ @ 6 @
D B3 1 @ @
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APR - 36224/I1—D

43. Inthe chemical weathering process, | 43. THE® foRro yfwmdam=d CIEEIE]
the general order of mineral stability TeeRgem=n w9 8 T 7ey foon
is provided by : R.

(1) Goldich dissolution series (1) Tieeidl foeed Hifden

(2) Penk’s dissolution series (2) el faEes wferen

(3) Bowen’s reaction series (3) S Afufsran Hifetenn

(4) Holme’s reaction series (4) ol stfufseen Aiferen
(A) (1) and (2) (A) (1) 9 (2)

(B) (3) and (4) (B) 3)a 4)

(C) (1) and (3) (C) (1) = (3)

(D) (2) and (4) D) (2) 9 (4)

44. Assertion (A) : Rejuvenation | 44, faerma (A) : TR0 T <=1
accelerates the erosive power of the Tt 3 9.
rivers.

Reason (R) : Rejuvenation shortens HT(R) : lem & STIRIT <hT

the cycle of erosion. wIAEE! HHE Hd.

Which one of the fOllOWing is @|q1ﬂ|q1t§|o|»,n| q—;\|U|¢|| CRIELS 31'[%‘ ?

correct ? &) (A) T (R) S i R s

w et | e
of (A) (B) (A)d (R) 3 sieR &md Ty (R)

(B) Both (A) and (R) are true and T (A) o 3TTE TIRIR AR
(R) is mnot the correct .
explanation of (A) (C) (A) & JU=R aMed WG (R) © K2

(C) (A) is true but (R) is false e

(D) (A) is false but (R) is true (D) (A) B = TR W (R) & S= 3718

45. ‘Sag pond’ is related to ............ 45. ‘giet SR, BIEINIE GGl
(A) Active strike slip (A) wfera Afdes TRy
(B) Meandering river (B) -NTHIST -l
(C) Coastal process (C) T Wi
(D) Deflation hollow (D) T9eTET T

23 [P.T.O.



46.

47.

48.

In arid environment ........... is formed

because of slower slope movements.
(A) Debris flow

(B) Talus

(C) Solifluction

(D) Sludging

Arrange the ‘slope segments’ from

lower to higher level :
(1)
2)
(3)
4)
(A)

Waxing slope
Constant slope
Free face

Wanning slope
4), (2), (3), (1)
(2), (3), (4), (1)
4), (3), (2), (1)
@), (2), (1), (3)

(B)
(&)
(D)

When large volume of pyroclastic
material mixes with rainwater and

snowmelt water causes

(A) Avalanche
(B) Debris flow
(C) Lahar

(D) Earth flow

46.

47.

48.

APR - 36224/I11—D

376 JATARONT SARIERIE B gieTare e

(A) B YA®
(B) <H
(C) Tedarl H&1 Yy

(D) HAIHTA

AR e @I o ST UIdesiqHTo A
orar

(1)
(2)
3)
4)
(A)

dledl 3dlX

Ueh ]l 34X

HHIS3
021 M |

4), (2), (3), (1)
(2), (3), 4), (1)
C) @), 3), (2), (1)
D) @), (2), (1), (3)

STeg] AT YHIUd el ThiTehall qeTeia
qeEe 9 fodecidl Won fHgea oo

.............

(B)

(A) =
B) TR F@w©
(C) @R

(D) H=1 Ja’
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49.

50.

Nappe is formed due to of the

following.

(1) Thrust faulting

(2) Recumbent folding

3)

Jointing

(A) Only (1)

(B) Only (2)

(C) Only (1) and (2)

(D) Only (1) and (3)

The main chemical compounds,

other than water, in acid rain

Hydrochloric acid and sulphuric
acid

(B) Nitric acid and sulphuric acid

(C) Nitric acid and hydrochloric
acid
(D) Nitric acid, hydrochloric acid

and sulphuric acid

50.

APR - 36224/I1—D

(A) % (1)
(B) % (2)
(C) e (1) Ao (2)
(D) e (1) & (3)

oo~

AT Si=Td AToATeATdied . 3l

THE TEEe W STHdr.

(A) FESEANE WHe =T Fergfiis
o

B) Trafes wfae snfu wewgfis
K]

(C) e e i TEgRnfs
s

D) TEfEF e, TEgElE e
o e dfEe
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51. The annal range of temperature is

52.

calculated as

(A)

(B)

()

(D)

Difference between annual

maximum and annual
minimum temperatures in the

last 100 years

Difference between warmest
and coldest monthly means of

temperature in a year

Difference between daily
maximum and daily minimum

temperatures in a year

Difference between average

maximum and average
minimum temperatures in last

30 years

The layer(s) of the atmosphere,

known as Appleton layer, is/are

(A)
(B)
()
(D)

D-layer
E-layer
F2-layer

G-layer

APR - 36224/I11—D

51. MO dftier el T o] JisTel

52.

El

(A)

(B)

(&)

(D)

Ml 100 TSidiel ofSeh  ShHTe

it anftien ferm QoI Tl

U Faid ST ST Haid 9

HIfeeh  ATIHMIG Thieh

TehT O Srfer e SAIfor SAfeH

GRS IR TCD

Ariiet 30 Tufiel TE AT ST

W fRaM aoHERa e

STATEOTIE o, SoTel 3{ueled o UM

(&)

(D)

TH2-0

-9
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53.

54.

Match List I with List II and select

the correct answer from the codes

given below :

List I (Winds Category)

() Microscale winds

(b) Mesoscale winds

(c) Synoptic scale winds

(d) Planetary scale winds

List II (Examples)

Santa Ana

Hurricane

(3) Westerlies

(4) Dust devils

Codes :
(a)

(A) 4)

(B) 4)

e 1D @ @ O3

D @2 B8 @ @

Which of the following statement(s)

is/are mnot true about the

atmosphere ?

(1
(2)

)
(1)
(2)

(c)
(2)
(1)

(d)
3)
3)

(1) Atmosphere is a very shallow
layer of the earth
(2) More than 99% of the

atmosphere is within 30 km of
Earth’s surface

More than 99% of the
atmosphere is within 80 km of
Earth’s surface

It protects us from the
dangerous radiation emitted by
the sun

(1) and (2)
(2) and (3)
only (2)
only (3)

3)

(4)

(A)
(B)
(C)
(D)

53.

54.

APR - 36224/I1—D

IEI-1 9 FE- 11 = Siedl Josad
Tl Hehdishiqd g w3 feren
& 1 (STt e

(@ 9&H FHO 9R
(b) AL FHT TN
) Tafyre=ifas ar
(d) TEE YHI R
A I (3[TE)
(1) "er 3
(2) Bk
(3) Uiyl am
(4) 9@ =m
(@ b)) © @
A @ @D @ ®
B @ 2 @O @)
e 1 @ @2 3
D 2 B @ @

ST Betietien! shivn faem R
TR ?

(1) SITareR 8 YeaT=n Tu S9es oX 378
(2) 99% U & e’ § G =
JRYNTIRA 30 TRl SEie=m
e

99% T&T SIQ ATATERY § geat=
TEIHITARA 80 fordt. Ifigrmm
e

4) HATUrgA 3Scafsd enwerEs
RO STATERT ST9e HE0T L
(1) =t (2)

(2) et (3)

Therd (2)

Thekd (3)

3)

(A)
(B)
(®)
(D)
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55.

56.

If temperature of a particular place
was 32°C, what would be its
equivalent temperature in degree
Fahrenheit ?

(A) 96.9

B) 89.6

(C) 99.6

(D) 86.7

Assertion (A) All objects

continually emit radiant energy over

a range of wavelengths.

Reason (R) : Hotter objects radiate
more energy in the form long-

wavelength radiation.

Which on of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

55.

56.

APR - 36224/I11—D

SR weren fafemse feswor araam 32 feim
Tfeway o8, T Tl BieEeas o

faY =

HAEd arqAE ferdl ot@e ?

(A) 96.9
B) 89.6
(C) 99.6
D) 86.7
faeam™ (A) : W 19T ® AR T
TETCATS =] HEALA T Hoid Ieesid

S {dId.

HRUT (R) : 307 yeid § & oAsd=

TR S el UId shdd.

G AR hIv SeR 3T ?
(A) (A) 3o (R) Srelel sieR STed ST
R) & (A) = T fowemm TR

(B) (A) 3 (R) ST sRIsR A 9

(R) & (A) = g fowemm =l

(C) (A) =R 38 WG (R) T I 378

D) (A) % 3R WY (R) T s=L 3
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57. oo, cloud develop along the cold | 57. Ta&diid SWEH{CALT THIaRoT 98
front in an extra tropical cyclone. AT & fasfad 2.
(A) Altocumulus (A) TR
(B) Cumulo nimbus B) Wﬁw
(C) Cumulus clouds (C) HFHc™ &1
(D) Nimbo stratus (D) & wH

58. Which of the following indices is not 8. @Mﬁmqoﬁ ch\|U|(|| F‘IE‘?H.Oh rqrqt{ FEIGIE
developed by Th_ornt}flw?‘fifte to YRl HHT SIUAES! oiFde It
Sfiﬁ;;filclrgpte)(s)u?ndrles of different fosfon S0 T 2
(A) Moisture Index (&) e.q]ﬁﬁm ERUED .

(B) Thermal efficiency index (B) SAIMCOTh HETHAT TTo3Mh
(C) Aridity and Humidity Index (C) Ikl 9 oTgal Tesme
(D) Evaporation Index (D) wrdiyed v

59. Match List I Wlth List IT and sglect 59. et 1 S AEt I Heftet st Sjezan a7
the correct pair from the codes given o s - iy fee -
below : [qededl Hehdishiqd Heh . :
List I (Scientific Terms) T 1 (TS H
(@) Haloclines (@) RS
(b) Isohyets (b) FHEREH
(¢) Pycnoclines (¢) IS
(d) Isohalines (d) EERAREH

List II (Meanings) et 1T (21eh)
(1) A line connect equal salinity in (1) TEEEE SRR SEOTE I

the ocean. (2) TRETR &A=l did STerd =T 3aR
(2) A line for sharp salinity

gradients in the water column Rferomt o

of the oceans. (3) WHIMEMTA qrodr=A1 o d=l 3dX
(3) A line for density gradient with TRIUIRT o

depth in the oceans. (4) TTF=a FEELE 99H TS=mgH
(4) A line for places of equal Toifaomd o

rainfall over a certain period. Haais
Codes @ ® © @

@ e @ @ @ 1O @
A 2 @ @O 3
B) 2 @) @) Q) B 2 @ 3 @
< 3 @ @ @ < 3 @ @ @
D 2 & @ @ D 2 8 @ @
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60.

61.

During the glacial period, the earth’s
crust sinks due to the additional

weight of ice is called as

(A) Thermal expansion of seawater
(B) Isostatic change

(C) Interglaciation

(D) Eustatic changes

Which of the following pairs are not
correctly matched as per the theories

of the origin of tides ?

(1

Progressive wave theory :

William Whewell

2)

Equilibrium theory : Sir Isaac

Newton

(3) Stationary wave theory : R.A.

Harris

(4) Dynamical Theory : G.B. Airy

(A) (1), (3) and (4)
(B) Only (4)
(C) Only (3)

(D) (3) and (4)

60.

61.

APR - 36224/I11—D

DN

EAGTETH  Jeaid

Fad  IHI ]

o o =

SN SIS

@ A
RIS

(A) T St Sfifvors fereror
(B) THEITH we

(C) SeRfEAH g

(D) afas® R e s_d

TTATAT R “Rar-sfgiet fAfdd=an

gl U SEl e AR ?

(1) 9t @ fagra ; faogm =gdd

(2) A fag : W SR <

(3) 3= T fAgm : 9RT. TRH
(4) e fagea ¢ SS. W

(A) (1), (3) 3mfur (4)

B) I (4)

(C) & (3)

(D) (3) 3o (4)
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62.

63.

Which of the following ocean
currents is not responsible for desert

formation ?

(A) Benguela current

(B) Humboldt current

(C) West Australia current
(D) Agulhas current

Who stated that “Geography is

related to the study of
interconnections among phenomena
of diverse origins existing together
in harmonious relationship in
particular segments (places/regions)

of the Earth surface” ?
(A) Malte-Brun

(B) Humboldt

(C) Ritter

(D) Hartshorne

62.

63.

APR - 36224/I1—D

WETYRT HIA THEHATE  ATaer=

Fafiidradt iy E 2

(A) ST YA

(B) TEITe Ya®

o =

(C) ufy=m sfeferan game

(D) Tce™ Yl
IV TH FWId kI I geaTeAl

TseuTTe fafeme wETe (Tere/Re)
U Gaud Uehiad fafae Scawi=n
FEAH T U HERIA] SR
Heifd s’ ?

(A) Hed g

(B) wsliee

(C) =

(D) TRYH
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64. Correct ascending order of relative

65.

contribution of various greenhouse

gases to total global warming is :
(1) Carbon dioxide
(2)
3)
4)

(A)

Methane
Nitrous oxide
CFCs

(D), (2), (3), 4)
4), (3), (1), (2)
(D), (3), (4), (2)
3), (4), (2), (1)

(B)
(&)
(D)

............. is a comprehensive document
of International treaty, in which the
following agenda were covered—Aid
fund, poverty eradication,
sustainable agriculture and rural
development, forest conservation,

biodiversity etc.

(A) Kyoto Protocol
(B) Agenda 21

(C) Paris Agreement

(D) Brundtland Commission

APR - 36224/I11—D

64. THI SR dqHHaTeAes fafay sRae

65.

AT WTUE AT F@dl wH

..........

e SI-3 RS

ILEE

S IPCATICE oz

~ o [

SRR onld

(D), (2), (3), 4)
4), (3), (1), (2)
(D), (3), (4), (2)
3), (4), (2), (1)

TATHER SRS TR, TR SAmed

eleild fasa gaTfase ivgr &
Ta—Tea feft, TREt fedem, wmeea St
g 7 foeR, sHaEH, Safafaw
TR

(A) =& YR

B) @wEr 21

(C) o™ =+

(D) Feeis HiHeH
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66. .ooonnn... process occurs in climates | 66. Yfeha BIHMTHE Hed i WY
where evapotranspiration exceeds USIHMTIe SToqIcisid SITed. 3T9q.
p;ecili)i?ti(l).n. . (A) TrEIEEETH
o pin  deri
(C) Calcification ©
(D) Glaciation D) TeIraSR

67. Which of the following is the largest 67. WHWW{H%W
ecosystem on the earth ? FHIO R 7
(A) Anthropogenic ecosystem (A) AFafTHe afieen
(B) Grassland ecosystem (B) oI Yoy wiEEel
(C) Terrestrial ecosystem (C) g afveeen
(D) Marine ecosystem (D) HNTGSTA qfiEEen

68. Match List I with List IT and select | 68. =&I-1 & ARI-1I F=a1 Siedl s
the correct answer from the codes @ Hehdiehrqd 4rd v e
given below : It 1 (AhH)

List I (Types) (@) TITRTERT

(@) Herbivorous (b) HEER
(b) Carnivorous ) Tasmd
(¢) Omnivorous ) fooes
(d) De.composers . Tt 11 (wh

List II (Animals) 1) e
1) Penguin .
@ Tt o) ¥
(3) Hippopotamus @) .
(4) Earthworms (L%) T”g@
Codes : Hehdl

@ B @ (@ b)) (@ @
A) 1) (2 3 @) A @ 3 @
B) 2 3) 1) @ B @2 & O @
< 3 O @ @ < 3 1 @ @
D B 1 @ @ D & 1 @ @
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69.

70.

Find out the correct sentence of the
following, regarding the agreement

of Kyoto Protocol propose ...........

(A) To reduce 30% emission of

carbon dioxide

(B) To reduce 18 to 20% emission
of CFC

(C) To reduce 2 to 8.5% emission of

carbon

(D) To reduce 0.2 to 6.25% emission

of carbon

Which of the following statements

is correct about synthetic fertilizers ?

(@) These fertilizers concentrate the
essential nutrients in the

moderate layer of the soil.

(b) These fertilizers concentrate the
essential nutrients in layer of

top soil.

(¢) It increases water holding
capacity

Find out the correct option :

(A) Only (a)

(B) Only (b)

(C) Only (@) and (c)

(D) (a), (b) and (c)

69.

70.

APR - 36224/I11—D

G HIvd fae™ Fa2l giereshia

FESET SR 3 ?

(A) FHEA-SESEFEREES s 30%

HH HL

(B) FERIYCRRETA Sedsi 18 ° 20%
HHT L0

(C) e S 2 T 8.5% HHT Hul

(D) e SasE 0.2 T 6.25% FH
!

T Fv faem FiEH e

e A ?

(@) T T AT HeH AR STeveh
RIEET-C e T B G|

(b) Bl T A=A LA YA SEATTH
TSRS Tha iUl AN

(¢) T T TR &l e

T Ty sl
(A) &F (a)

B) FFH ()

(C) % (a) M (c)
D) (a), b) =7 (c)
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71. Which of the following options is best | 71. wEeleUshT Al TIE STHIY TSI
defined as plant and animal WWH&GM@ STToiea Hige &5
community that covers a large Tl s 2
area ?

(A) ==
(A) Biome

(B) Sttemery
(B) Biosphere

(C) Safafasm
(C) Biodiversity

(D) ifeerent
(D) Ecology

72. Arrange total net productivity of 2. WE WS SRRl T
major world biomass in decending ScAGeRdl SALC FHAN AU FA
order : (A) T — G TEMEFR — o Fo¥l
(A) Forest — Open ocean — Grass- NP N

— claselletiet SiHIA
land — Cultivated land
B) ‘AT HEEIML — &1 —
(B) Open ocean — Forest —
ANTTS el STHIA — Tadles Fasl
Cultivated land — Grassland
(C) Cultivated land — Grassland — (C) s Rl S — TS 5
Open ocean — Forest — el HeHM — &1
(D) Grassland — Cultivated land — (D) TEAE Y3 — ANES @elel STHA
Forest — Open ocean — 9 — g HEER
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73.

74.

What is the meaning of inter-
generational equity as an aspect of
sustainable development ?

(A) Minimise any adverse impact
on resources and environment
for future generation

(B) Minimise the wealth gaps

within and between the nations

during the developmental
process

(C) Safe, healthy and resourceful

environment to our present

generation

(D) Develop carrying capacity of the

environment to achieve equity

Rank the following Union Territories
in ascending order by population

density in 2011 census :

(@) NCT of Delhi

(b) Dadra and Nagar Haveli

(¢) Chandigarh

(d) Andaman and Nicobar Islands

Codes :

A © b)) (@ @
B) &) @ (@ @
C @ b)) © (@
D) (@ @ ®) @

73.

74.

APR - 36224/I11—D

Y oS 109

STYed fasrrar=ar s SaRfuer

gHaa wE AY g ?

(A) 9t fagieret wieEHus 4
TAERMeR A Uidehel qRUMH hHt
T

(B) forhmar=a Ffshacae qemaia St
SH TTAL T ST T

(C) Heare fueianet gefard, sTRreRTE
q GO TR

(D) wETEROT= G &l foehfid e
HHI TATO O]

2011 =a1 SATUHHEEY SR TA A
FATTER T shgeMiad YouTe =@

FHM HHER e
(@) T=E T wow oot
(b) TEY M0 TR gl

(c) =TS

(d) €A AT fHehter
ehdleh

A © b @ @
B) ® © @ @
© @ ® © @
D) @ @ ®) @
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75. Match List I with List I and select | 75. @@l I =701 =t 11 Hefiel Sireean Sezan

the correct answer from the codes

given below :

List I (Types of Migration)
(@) Chain Migration

(b) Forced Migration

(¢c) Step Migration

s feeiean Feharehlqa 3Tg® 941

Haer
It 1 (RAATHTE YD)

(@) WTEc TR

(b) e T

(c) TUHRUANE LA

(d) Seasonal Migration (d) H! Tl
List II (Descriptions) et I (i)
(i) Persons displaced by war, () & wus foar TEfife i
conflicts or natural disasters fereenfta smetedt =it
(ii) Sequential movement from (i7) ATHIOT I el AT SO o
rural to urban areas in stage BIUNT Shfld BTer=et

(zii) Persons seeking work each year
for a short time in a place other

than their residence

(v) Individuals follow others who

have previously migrated
Codes :

@ ® © @
A) Gv) GiD) G) 6

(1) Teeh I = fargeeeataiie
T TSR e HIAEEAs

N0 et

(fv) O TUARG Feedd AR
HIORT ekl

U
(@ B © @
A) Gv) @) @) @)

B) @ Gv) @) ) B) @ Gv) @ G
(C) Gv) @ @) ) © @ @O @ @)
D) @) Gv) ) @) D) @) G@v) G @)
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76.

77.

In Christaller’s model, the hierarchy

levels are :

(1) K3—Market Principle
(2)
3)
4)

Find out the correct combination of

K4—Transport Principle
K7—Administrative Principle

K9—Industrial Principle

answer according to the code :
(A) (1), (2) and (3)

B) (2), (3) and (4)

(C) (1), (3) and (4)

D) (1), (2) and (4)

Assertion (A) : Class I Cities in

India have grown faster than small

and medium towns.

Reason (R) : Due to change in the

definition of urban area.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

Both (A) and (R) are true and
(R) i the
explanation of (A)

(B)

1S not correct

(®)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

76.

77.

APR - 36224/11—D
TR UiqHAME, TelledsH Tl S0l &Y
e
(1) K3—<NNY3 ox
(2) K4—aTeqH a7
(3) K7—IRMEhia e
4) K9—sirifie T
ST FF T T HehdehTTH
e
A) (D), (2) 9 (3)
B) (2), 3) T (4)
(C) (1), 3) T4
D) (1), (2) 7 4)
e (A) : 9IRawdTe o [ 98t @M o7
T YEAUeT T TR Sel ST

&HROT (R) : YRG YW= A0 95

Ao foepfad ot TR,

Fﬁ?ill% :

(A) (A) amion (R) SITel SRR 3718 1o
R) T (A) = o= foveww o)

(B) (A) o1 (R) Sl & S e &1t
R) T (A) ¥ oT9F faver =@l

(C) (A) =R 3¢ W (R) & IF 3o
(D) (A) & ¢ Wg (R) T TR 2T
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78.

79.

80.

Who

propounded the concept of rural-

among the following

urban fringe ?

(A) Pryor, R.J.

(B) Pahl R.

(C) Homer Hoyt

(D) Jean Gottman

What is ‘Demographic Divident’ ?
(A) Increase in 0 to 5 age group
population

(B) Increase in 6 to 15 age group
population

(C) Increase in 15 to 64 age group
population

(D) Increase in 65+ year population

Which of the following factors are
taken into account when computing
the Human Poverty Index (HPI) ?

(A) Life expectancy, education and
income inequality

(B) Gross Domestic Product (GDP)
and unemployment rate

(C) Access to clean water and
sanitation facilities

(D) Infant mortality rate and

literacy rate

78.

79.

80.

APR - 36224/11—D
UMHIO-AN HehaoT &5 € Heheu
@elTerish! o Aieel ?
(A) JHER AL
(B) 9gd 3.
(C) T 7L
(D) S TTeHEA
‘AREEARE TR WS wE 7

(A) 0§ 5 FAFEde] denaedd 9

B) 6 4 15 TR chaed ae

(C) 15 d 64 TIEA aiemaEdd

die

(D) 65 T 31fHeh SANETIe ARTEd
ElE)

ETelelish] $IUd U2 © HMd-<Ed

~

~x LY ~ L
(QRllen(=l AUl endll TS=Iid «dqed

S ?
(A) AN, 1w 9 39 STHAEE

Y o

(B) =& Sl ScaR 3 SRISMRT X

(C) = urvfl 9 W=aq Yaer A=

gy YTl

(D) HAHH AT gL (0T WERAT g
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81.

82.

Which one of the following possess
dual recording system of vital

events ?

(A) Census

(B) National Family Health Survey
(C) Sample Registration System
(D) National Sample Survey

Information pertaining to which
among the following is not provided
by the population in census of
India ?

(A) Trends in population growth

(B) Changes in age-sex structure

(&)

Pattern of migration and

urbanization

(D) Family planning practice of

married couples

81.

82.

APR - 36224/I11—D

S LN N o

TR IV el et ol

Al T5d e ?

(A) SO

(B) UK Hzd AT FA&T
(C) A1 Aiguit yured!

(D) T THAT FH 00

AT SHTUTE) Slelielieh] v

gt UM helelt ARl ?

(A) AHEEAT TEET Fd

B) TI-TaTT F=-T ded

(C) TR STV FTeLhTome SATFH e

(D) foarga Siewr=a wga s
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83. Match List I with List IT and select

the correct answer from the codes

given below :

List I (Models of Urban
Land Use)

(@) Burgess Model

(®)

(c)

Harris and Ullman model
Hoyt Model
(d) Exploitative model

List II (Characteristics)
(z) Multiple nuclei with specialized

functions

(z1) Circular zones with distinct land

uses

(i) Irregular patterns based on

transportation routes

(tv) Explain the structure and
function of any town or city

based on ownership of resources

and to pay
Codes :

(@ ®) @ (@
(A) Gv) @) @) @GID)
B) @ @) @) Gv)
(C) G) @ @) Gv)
D) @) @) @) (o)

APR - 36224/I1—D

83. FET I nful =l I1 el e Sfesen

Tfor welt feeiean HehdTeRtga 3Tee 9o

Haer

I I (PR gt SudieE fagia)

(@ =g fagE

(b) Tm ofr 3om fogm

() T fasm

(@) wme fasm@
iUl | G CIR D)

@)

fovy wEEe & SEs

(i) ST YHI STASHTE SRR

&

(iii) ITEYH HIT=AT SR ATHHa

S EAE Lo

(iv) HETYATSAT HileAh! S0 TY o=
7T T SRR hIUcTe! e
T 3T h1d TS SHIUITHIS]

Tehdich
(@ (®)
A) @) @)
B) @) @)
©) @) @)
D) @) @)

(c)
(i) ()
(@) ()
(@) ()
@) ()

(d)
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84.

85.

86.

Regional variations in agricultural

productivity can be influenced

(A) Cultural diversity

(B) Economic disparities
(C) Political boundaries

(D) Climate and topography

Which one of the following is
considered as the catalytic factor in
Von Thunen’s Model ?

(A) Market

(B) Transport Cost

(C) Urban Centre

(D) Concentric zones

.............. is the diminishing marginal
returns to scale that occur when a
firm becomes too large to manage

and operate efficiently.

(A) Economies of the scale
(B) Diseconomies of scale
(C) Disintegration of scale

(D) Diminishing scale

84.

85.

86.

APR - 36224/I11—D

FH SCAGF TS TR ITF TEeTa Tetel

M=l Yo 98 Yehdl

(A) Tiehfas fafawa

(B) sfdier foreman

(C) TSE

(D) TaHM 7o e

T SN Hieems) BEEE Hv

3T T HEC Sl ?
(A) ¥R

B) =EgE T

(C) Wl %

(D) =hgferg &

BT SHHT B SO S e

TS, S TERl ST AT D
T HaEfyd FI0A ST SheHar

Ohl"-i{d ST TES WM.
(A) IREmHERl fodaema ey
(B) e = onv

(C) fawfsa =y

(D) =EHE Y
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87.

88.

When there is prolonged period of
inadequate rainfall with uneven

distribution, such situation is known

(A) Agricultural Drought
(B) Hydrological Drought
(C) Meteorological Drought
(D) Socio-economic Drought

Which of the following costs incurred
in the process of moving and which
are made up principally of fuel costs
and wages ?

(A) Overhead costs

(B) Line-haul costs

(C) Transfer costs

87.

88.

APR - 36224/I1—D

Stegl SAFH TIatuneg STg-a1 Isi-=Hrarei
STel ShTCTasll 5!, deal 319 qRierdien

oY WA S@Ed .

(A) FHl TS
(B) Seid goehles

(C) BAMMHETh Tohlc

(D) wHIfSTh-Tfe Toehies

STEqeh BeTaTel Tished @eierden hiurl
Td S e 3UF Ee ST HeiE
STAA A 7

(A) =@

(B) =rEtEn TH

(C) &= T

(D) Network costs (D) “=a® TH
89. Which mode of transport is having | 89, =Rivren gfiEed Ugdi=n {1 @@=
high terminal costs as compared to TEHT=A qE S AR ?
other mode of transport ? .
(A) W wEe
(A) Marine ports
: B) I
(B) Rail
(C) Roadways ©
(D) Bus stand (D) = ol
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90.

91.

Which of the following sentences are
correct with respect to international
trade ?

(1)

Volume of trade is amount of

trade in monetary terms.

2)

Composition of trade is type of

goods and services in

international trade.

(3) Direction of trade is trade of

country with other countries or
trade blocks.

(4) International trade does not
fulfill surplus and deficit
supply of

commodities in world

Codes :

demand and

(A) Statement (1), (2), (3) are correct
(B) Statement (2), (3), (4) are correct
(C) Statement (1), (2), (4) are correct
(D) Statement (1) and (4) are correct

As per Von Thunen, terrain which
is completely uniform in respect to
relief soil, climate and all other

physical conditions are called as :
(A) Isostatic surfaces
(B) Isotropic surfaces
(C) Isometric surfaces

(D) Isolectic surfaces

90.

91.

APR - 36224/11—D
SRATSE AT T BT TeTIehT hIoTd
fouM sle/arg e ?

(1) =ITIRTE ATHIHTT & =AY

ENRICERE IR b ekl
ST AT % HATI0T Heayl

AT TehT IS STARSE T STAR
T B

2)

21 1e1 o e O e R ) & B | A
SYNEITT Teha SR ol aRieiie]
IR B

AW AR SO Tl

3)

(4)

A) fagm (1), (2), (3) ¥ =R e
(B) faum (2), (3), (4) T T &
(C) faem (1), (2), (4) & =R 38
(D) faum (1) a7fn (4) & S_R TR

M ZA AT, S Ut © 391, T,
BT ST S UThiceh SIehlaTeldld oIt

...........

THTHH 3T o
(A) IEESF gaum
(B) sTHEREfUEw gEun
(C) AEEES T34

(D) SAIHIIFTF TBUN
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92.

93.

Which of the following farming
practice aims to grow grasses in
rotation with the field crops, which
helps in building up the structure
of soil, preventing soil erosion and
improving its fertility ?

(A) Basin listing

(B) Contour terracing

(C) Hey farming

(D) Strip cropping

Who wrote book titled as ‘Land of

Britain : Its Use and Misuse’ ?
(A) M. Shafi

(B) D.M. Smith

(C) L.D. Stamp

(D) A. Coppock

92.

93.

APR - 36224/I1—D

ETATAth] hivedr Sl Ufshae Sfase

"\l n {dinckd

EEICIERRGIE N CRIELRCIEE R

(D) U2 gl

‘ofve AT fred : 329 g 3fve fHags’
T YA @A HIU Tl R ?

(A) WH. IR
B) EL.ug. =y
(C) WSl wm

(D) W HIAH

9. is a good technique for the | g4 = ¥ S e W YEred
delineation of land capability e A =S O e,
regions. )

(A) 9ured SHH Tehe
(A) The potential land unit
(B) 3@ET Uheh
(B) The production unit
(C) The potential production unit (C) T TR
(D) The perfect production unit (D) IRYY STET THE
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95.

96.

97.

According to Friedmann’s centro-
periphery model which of the
following sentences is correct :

(A) This model proposes that it is
the circular causation that
results in either downward or
upward spiral effect

(B) Development is determined by
the nature of relationship
between the developed core and

the underdeveloped periphery

(C) The development of subsidiary
capitalist metropolis exist as

satellite city status
Model is highlights the role of

spread effect rather than
backwash effect

(D)

It is the existence of forces

that make an area a region.
(A) Centripetal

(B) Centrifugal

(C) Natural

(D) Regional

is characterized by strict
physical boundaries and uniform
characteristics.

(A) Formal region
(B) Functional region
(C) Peripheral region
(D) Compage region

95.

96.

97.

APR - 36224/11—D
e SR Hige’ THR Wreficrient
R AT SO 3R 7
(A) T fasmE digad 19 gfaues &id &1

Tl SRS TehaX STEMEl fohal
IEH FAIRR. 9oy ikl

(B) foerm 71 faswfag g anfor stfawiaa

e I GaETe WE g

fauifa e <l

(C) =M YSat HeFvR foehe STE
IRl S WA Al Al

(D) =1 YiqHHT= YfHeRT gfders gurmemian
THR J9E SERTEd

EEC

(A) sifrengd
(B) 3TTehgl
(C) Urhfdh
(D) wrefis

e 3T § &IFTeT Teh WSl

= afyrey =N FRewR
Wrehfaer T emfor uehwHE  Sfvreed
B4

(A) ®UHE Yl

(B) #wMEH® To¥l

(C) dfEia wew

(D) wfafsa wew
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98. Genres de vie means : 98. ‘S T =A' WIS :
(A) Cultural assimilation (A) WiEFfasF STeHEd 0
B) Rolest thmen fand 'Wotrlrlle'n (B) T Siem ﬁ‘m yfeh]
expec§ o perform in their s i
daily life
(C) Way of living (C) ST T
(D) Geographical area (D) Hrifes &

99. v, is the perspective in | 99. 7 B il gt 3Te Sl
geography that emphasizes the I SIS SAHATAT SAITHIE
study of the individuals subjective el
experiences.

(A) FAFER
(A) Positivism
B) HHAIAMER
(B) Humanism ®)
(C) Feminism ©) [
(D) Postmodernism (D) S-SRI

100. Arrange the following philosophers | 100. @Ieiiel qeaa= = HIaTES=T 3ER
in ascending order starting from the dﬂﬁwmi\—f FHHART ol
oldest : .

() sLfeafE
(z) Eratosthenes . .

(i) SRS
(z1) Anaximander

@1i) =
@@ii) Plato
(tv) Herodotus @)
Codes : i :
A 6O G) G Go) A @ @) @) (o)
B) G) @) Gv) G B) @G @& @) @)
(C) @) Guv) Gi) @) (C) @) Gv) @) @
D) Gv) @ @ G D) Gv) @ @ Gi)
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ROUGH WORK
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